NOTES:

1. USE ONLY #B8-32 X 3/8 PAN HEAD SCREWS (.094 MAXIMUM HEAD HEIGHT) TO
SECURE CHASSIS BOX TO THE SLIDE CHASSIS SECTION USING THE FIRST
AND LAST HOLES WITH A MAXIMUM SPACING BETWEEN SCREWS OF 8.00".
(NOT ALL SCREWS SUPPLIED ARE REQUIRED FOR MOUNTING.)
REAR CABINET

2. MOUNT FRONT OF STATIONARY SECTION AS CLOSE TO FRONT CABINET MOUNTING RAIL
RAIL AS POSSIBLE, LETTING REAR MOUNTING BRACKET PROVIDE THE (LEFT SIDE)
ADJUSTMENT.

3. BRACKETS, BAR NUTS AND #10 SCREWS ARE SUPPLIED WHEN SLIDES
ARE ORDERED WITH "CM” CABINET MOUNT BRACKETS. "CM1” STYLE MOUNTING  BRACKET
BRACKETS ARE SHOWN, SEE WEBSITE FOR OTHER BRACKET CONFIGURATIONS.

4. SLIDES ARE SUPPLIED IN PAIRS (RH,LH) TO ENSURE SPRINGS #8-32 KEPS NUT

ARE AT THE SAME LOCATION ON EACH SIDE. \
BAR NUT

#8-32 X 3/8 PHILIPS
PAN HEAD MACHINE SCREW

OOOOO\Q OXDXQ o O O Of
\

NON—LOCKING SLIDES WITH AR (AUTOMATIC
RELEASE) FEATURE DO NOT REQUIRE GREEN

® FRONT CABINET
DEPRESS GREEN BUTTON D) AND BEGIN REARWARD MOUNTING RAIL

REARWARD MOVEMENT TO RELEASE SLIDE FROM (LEFT SIDE)

STANDARD LOCK—OUT CONDITION.

ButToN® T0 BE DEPRESSED BEFORE CLOSING. @\
DISCONNECT SLIDES BY DEPRESSING

creen BUTTON® AND MoVING cHassIs ﬁ;gijgzwx J/{gH‘ZE‘USPCSREW
SECTION FORWARD.

STATIONARY SECTION

#10-32 X 1/2 PHILIPS R
82" FLAT HEAD MACHINE SCREW @
(USED WHEN MOUNTING RALL IS P

COUNTERSUNK FOR F)LUSH P
MOUNTED PANEL V

/

\\\\\\%

E

CLB-315 CABINET MOUNTING
(CC7700 SERIES SLIDES)
@ MOVE RETAINER TO FRONT END (SEE REVERSE SIDE FOR FLAT MOUNTING)

OF INTERMEDIATE SECTION BEFORE GENERAL
INSERTING CHASSIS SECTION. DEVICEW

Electronic Hardware
#8-32 KEPS NUT Manufacturers

#8-32 X 3/8 PHILIPS
PAN HEAD MACHINE SCREWW

/ooooooooo o)§ oooof

~

@ CHASSIS TRAK:" Telescoping Slides

www.generaldevices.com

If you have questions please call 317-897-7000
INST7700-A or send e-mail to sales@generaldevices.com



NOTES: #8-32 KEPS NUT
1. USE ONLY #8—32 X 3/8 PAN HEAD SCREWS (.094 MAXIMUM HEAD HEIGHT) TO \

SECURE CHASSIS BOX TO THE SLIDE CHASSIS SECTION USING THE FIRST
AND LAST HOLES WITH A MAXIMUM SPACING BETWEEN SCREWS OF 8.00".
(NOT ALL SCREWS SUPPLIED ARE REQUIRED FOR MOUNTING.)

2. SLIDES ARE SUPPLIED IN PAIRS (RH,LH) TO ENSURE SPRINGS
ARE AT THE SAME LOCATION ON EACH SIDE.

DEPRESS GREEN BUTTON®AND BEGIN REARWARD
REARWARD MOVEMENT TO RELEASE SLIDE FROM
STANDARD LOCK—OUT CONDITION.

NON—LOCKING SLIDES WITH AR (AUTOMATIC
RELEASE) FEATURE DO NOT REQUIRE GREEN

BUWON® TO BE DEPRESSED BEFORE CLOSING.

DISCONNECT SLIDES BY DEPRESSING

GREEN BUTTON® AND MOVING CHASSIS
SECTION FORWARD.

#8-32 X 3/8 PHILIPS
PAN HEAD MACHINE SCREW

/ #8-32 KEPS NUT

CHASSIS SECTION

MOVE RETAINER TO FRONT END
OF INTERMEDIATE SECTION BEFORE
INSERTING CHASSIS SECTION.

INST7700-A

o

®

#8-32 X 3/8 PHILIPS
PAN HEAD MACHINE SCREW

\— STATIONARY SECTION

CLB-315 FLAT MOUNTING

(CC7700 SERIES SLIDES)

(SEE REVERSE SIDE FOR CABINET MOUNTING)

GENERAL
DEVICES

Electronic Hardware
Manufacturers

CHASSIS TRAK" Telescoping Slides

www.generaldevices.com

If you have questions please call 317-897-7000
or send e-mail to sales@generaldevices.com



	INST7700-A (CLB-315) (pg 1).pdf
	INST7700-A (CLB-315) (pg 2).pdf

